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L R—hrFEE (8 3 [E)

el 1

YA XHEUTHS 2 2D 2 Rili x B&V y OERZLUBL. KEWADERZEATHLWL
Bcyl z Z1ERE Lo NumPy OFIBEZEELTWSS, ERALESTELWL, (5 &)

X y y4
6|72 035 6|75
3 04 7112 — 7114
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L R—hrFEE (8 3 [E)

[FIRE 2
sleep_in_mammals.txt 7 7 1 ILZFHEHiA#H. TotalSleep H 8 BRI EDOEWIXTIED 5%
N3707 5 L%ZEMtE &, Pandas DFIAZEELTWSH, ERHLELSTHLWL, (5 )



L R—hrFEE (8 3 [E)

g 3

tair T — 99X —=—ZAh 504X FXF (A thaliana) O E-F7 /57— 3
TAIRT10_GFF3 _genes.gff 29 v>O—KkULTL LW, #HEBHRZSEICLT, 7/ T—Y3aY
ICEHSINIIANTD MRNA ODRESZMEL. ZOFEHEZHEE L. (55)

\

- TAIR10_GFF3 _genes.gff (44,139KB; 2019-07-11) ¥ >vAO—K5%:

« GFF 771 IVIE7 7TRXYID D7 71 )L T. Pandas THRMAT DL EE, /z£L. Pandas Z{#
PR THRLY,

- FAJS LI FIHEDHEHENTBHELIICLTLIES L,


https://www.arabidopsis.org/download/index-auto.jsp?dir=%2Fdownload_files%2FGenes%2FTAIR10_genome_release%2FTAIR10_gff3

A8 3 i

>>> X =
>>> X.head(20)

OV WNEREO

0
Chrl
Chrl
Chrl
Chrl
Chrl
Chrl
Chrl

Chrl
Chrl
Chrl
Chrl
Chrl

1
TAIR10
TAIR10
TAIR10
TAIR10
TAIR10
TAIR10
TAIR10

TAIR10
TAIR10
TAIR10
TAIR10
TAIR10

2

chromosome

gene
MRNA

protein

exon

five_prime_UTR

CDs

exon
CDs

three_prime_UTR

/

gene
MRNA

3FEHPMRNALSIE, DT
IEMRNAD 7 /F7—2 3> Th
5ZEZERLTWS,

pd.read_csv('TAIR10_GFF3_genes.gff',

sep="\t',
3 4 5
1 30427671
3631 5899
3631 5899
3760 5630
3631 3913
3631 3759
3760 3913
5439 5899
5439 5630
5631 5899
5928 8737
5928 8737
FAtAfIE BT B
\ J
Y
ZDENREITHS

++++++: 0

r+ + + =

7

header=None)

8

ID=Chrl;Name=Chrl
ID=AT1G01010;Note=protein_coding_gene;Name=ATl...
ID=AT1G01010.1;Parent=AT1G01010;Name=AT1G01010...
ID=AT1G01010.1-Protein;Name=AT1G01010.1;Derive...
Parent=AT1G01010.1

Parent=AT1G01010.1
Parent=AT1G01010.1,AT1G01010.1-Protein;

Parent=AT1G01010.1
Parent=AT1G01010.1,AT1G01010.1-Protein;
Parent=AT1G01010.1
ID=AT1G01020;Note=protein_coding_gene;Name=ATl...
ID=AT1G01020.1;Parent=AT1G01020;Name=AT1G01020...



L R—hrFEE (8 3 [E)

fBiRE 4
—EEREYDOSBHIEBDHRT, BE:FE AA. Aa. aa ¥
E{EbENnEFn 600 EF. 300 EfFE. 100 BEFEEFEET D, CDEH

ICHEWVWT, ROKSEREZITS. (10 &)

1. SOEFEOHHISFT VY ALIC 2 BFzHEd 5 GEERML) -

2. LK 2 BFZEnERDS I Y LICTLIL (AXfclFa) 212
MEL, MEZSLETRIEROBEFEOT7LILET B,

3. FIE 1-2 Z# 1000 [E#D&RL T, § 1000 EFEZEKT %,

FlIE 1-3 # NumPy YELEEEZE> TEEULU., FlE 3 THESN:
1000 fE{FERDETCFE AA. Aa. aa BiFO# =z ENnEFNnKRD &Ko
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1 R7TiEc% / np.array

NumPy @ 1X&JjclEe5liE. Python @ 1RTVAMZ
MIRULEEKSTBA TV U bTH S, NumPy EClIE.
NumPy THESNIBE#ZERL TERT %, BIZIE.
np.array E¥ZEZIE. 2D Python DU X M%Z
BESICERTE D, £fc. np.full ¥ np.linspace %
EDBYMZFEZRIF. INTODERDPRAUVETHDLS5K
P EEHINDL S BEINZED I L HTES,

np.array

“opones | np.fu

np.arange

np.linspace

import numpy as np

*= T T H oo

00

= [1, 1, 2, 3, 5, 8]

[1, 1, 2, 3, 5, 8]

= np.array(a)

array([1, 1, 2, 3, 5, 81)

= np.array([1l, 1, 2, 3, 5, 8])

array([1, 1, 2, 3, 5, 81)

11



1 Rychcsl / np.full

TRTCODERDPAEAUVETH S L SLBEINZEED EZE.

np.zeros, np.ones, np.full B ZERAYT % EEFFT
$H 3. np.zeros & np.ones BE#IL. BIEBDED,

IARTODEFRD 0 Feld 1 THELSHEINZED L
ZCERAYT %, £feo £z, np.full BEB#E. EEDIE
T LS N cESZ2E3 & EICERT S,

np.array

np.zeros

np.arange

np.linspace

import numpy as np

*= T T H oo

00

= np.zeros(5)

array([O0, 0, O, 0, 0])

= np.ones(8)

array([1, 1, 1, 1, 1, 1, 1, 11)

np.full(5, np.nan)

array([nan, nan, nan, nan, nan])

12



1 R7TEc%! / np.arange

ZEHIDSKZET%ZEESEE, np.arange BE%Z  import numpy as np
89 %, np.arange B, start (BIIORWD , _ np.arange(5)
&), stop (BFIDEEE), step (HfE) @ 3 DD5|¥%
ZIFEDO., FRSICEDWTEERIH S ZETIZE
%, start ZHEMK I B & start=0 &H D, step &
&9 B & step=1 &35,

H* o

array([0, 1, 2, 3, 4D

= np.arange(l, 6)

O O

array([1, 2, 3, 4, 51)

c = np.arange(l, 6, 2)
T T XTI ¢

BE¥RIC;ESE, np.arrange TI3HL,
ANumpy S5 T#%-7 Numeric l5f¢= d = np.arange(10, 0, -2)
{Ebnl- arrayrange BIEODERA &L d

T arange FEPRTWLZLICERT  # array([10, 8, 6, 4, 2D

* N




1 X7TE5 / np.linspace

ZEEHIHSLZEIN%ZEED EZ. nplinspace B8  import numpy as np
HFHEHTZES, CORE#IL. start (B DRI DIE),
stop (BIIDREZEDIE), num (EFRH) © 3 2D5|H
ZZIFWD. FNSICEDWTEERIIM S KR ST %
%, num Z&IEI 3 & num=50 &% 3,

= np.linspace(l, 9, 3)

H oo

array([1l., 5., 9.1)

= np.linspace(l, 9, 5)

OO

array([1l., 3., 5., 7., 9.1)

= np.linspace(l, 0, 5)

00

“ipzeros | mp.ones | np.full

; B#&ICER, np.linespace TIX%L,
Linearly space vectors #4pk9 35 'I 4
D, linspace TH 3,

array([1. , 0.75, 0.5, 0.25, 0. 1)



1 Ryt / BEETE

NumPy (Zi&. 81D EIF®tIDET%ZITS np.ceil ¥ import numpy as np

np.floor\ &b Z1T5 np.log\ =AHE#DEZETE a = np.array([l, 5, 10, 50, 100]1)

9 % np.sin, np.cos ¥ np.tan & &, FEFvroEiEst

59 % np.mean ¥ np.std G&. Z<ODEHEHDAE  np.loglo(a)

INTW3, ThEOBMEETRTRZZBEFR, * array(l0., 0.69897, 1., 1.69897, 2.1

EWEWEZFICZDFEVWAZRANNIEE XL,
np.sqrt(a)
# array([1.,2.2360,3.1622,7.0710,10.1)

np.mean(a)
# 33.2

np.std(a)
# 37.722142038860945

B https://docs.scipy.org/doc/numpy/reference/ufuncs.html 15



1 RIHcS!

NumPy @ 1 RiBEiliE. YAMEEFEULSICED
/S EDNTE S, EINRBREFNICEERERRTES
ZEDBZVWH, —HOERLEIFZMDHLIED, EEL
eDI3LHTEDS, TDE. EINDEEMNSHAT
AHEEHDERZMOHLIEWODE, BHTIEET 50
EhH B,

import numpy as np

w = np.array([12, 10, 11, 13, 11]1)
\
w[O0]
# 12

w[l]
# 10

w[2]
# 11

w[2] = 9

w
# array([12, 10, 9, 13, 11])

16



1 RycEeil /| AZ714 R

Python QU XA ERARIC. BODESIERZATFIAL
THRI32EHTED, ATATRZTOIEE. AFA
ADEWAUEELRT (FaiD) UEZI10OY () TX
> THEEYS %o

AT Rl EOMD HE B2 ETIE. TTOEIINDEREG>TL
%, LEED>T, AFAATRONICEBDPEINDEZEET S L. TTD
EFIDEBZEILLTLE S,

np

b[0]
b[1]
b[2]

# np.

np.array([1, 3, 5, 7, 9,
2, 4, 6! 8! O])

a[3:6]

.array([7, 9, 2])

o n
© OO

array([0, 0, 0])

.array([1, 3,

3,
Q! 4! 6!



1 Ryledl | AZ14 A

a = np.array([1l, 3, 5, 7, 9,
2, 4, 6! 8! O])

a[0:2]
# np.array([1, 3])

a[2:6]
# np.array([5, 7, 9, 21)

al:4]
# np.array([1, 3, 5, 71)

a[5:]
# np.array([2, 4, 6, 8, 0])

18



1 Rclcd /| R51 R

ATARZTO52¢LE. ARUBEERTHNEDMIC, R
TYTHEEZZIEHTEDS, 1 ERHBEICHEE 1
DO HIBEEREICENTH S, £, EIITIE., &E
HMUTWEWERZRBICMOEHI L HTES,

import numpy as np

a = np.array([1l, 3, 5, 7, 9,

2, 4, 6, 8! O])

a[2:9]

al[2:9:1]

al[2:9:3]

al[0, 2, 4, 6]]

19



1 Ryledl | AZ14 A

o)
v

1 2 3 4 5 6
vV VvV VvV YVYYy

7
v

8 910
vV Vv

IR S 7 9 2 4 6 8 ¢

IR S 7 9 2 4 6 8 ¢

v

import numpy as np

a = np.array([1l, 3, 5, 7, 9,
2, 4, 6! 8! O])

a[2:9]
# array([5, 7, 9, 2, 4, 6, 8])

a[2:9:1]
# array([5, 7, 9, 2, 4, 6, 8])

al[2:9:3]
# array([5, 2, 81)

a[[0, 2, 4, 6]]
# array([1, 5, 9, 41)

20



1 Ryclcdl / 7«1IL5 —

ERIDSERZMOHT LEE, UEBS THEET 5EH\.
True Ffcld False BS5RBBES (FT-VF7URI
L) TEETSBIEHTED, CDEE, T-UFPUN
JMNILVORSE,. BREURELSEIIDRES EFAU TR
FNIEE 50,

import

alk]

alk]

np

np.

np

np.

numpy as np

.array([ 2, 4, 6,

array([True, True, False,

.array([ 2, 4, 6,

array([False, True, True,

81)

True])

81)

True])

21



1 Ryclicdl / 7«15 —

import numpy as np

al|2(4|6|8 a = np.array([ 2, 4, 6, 81)
T TR T k = np.array([True, True, False, Truel)
7145 — k Z2AWT, X7 K a * * *’
DEFE7 LUV ILTWE,  alk] AN XK a[k]
A=Y, # array([2, 4, 8])
a = np.array([ 2, 4, 6, 81)

k = np.array([False, True, True, True])

alk]

22



1 Ryclicdl / 7«15 —

7125 — k ZFHWT, XK a
DEXRZ71 L7V LTVWSA
)(—9‘0

a[k]

=~

a[k]

2 4pA 8

N «
o KF
o BF

import numpy as np

a = np.array([ 2, 4, 6,

k = np.array([True, True, False,

alk]
# array([2, 4, 8])

np.array([ 2, 4, 6,

Q
Il

k = np.array([False, True, True,

alk]
# array([4, 6, 8])

81)

True])

81)

True])

23



1 Ryclcdl / 7«1IL5 —

71 ILY—IE. True £/lF False ZHAFTHOETE
FIETIERTESHD. HEIFREZHEL T, ZDFMHIC
EOWTERT B &EH—RINTH S, HIZIE. 5 &b
HREWMEZERDHET 71 LY —PHHOEZENDOHT
71—, BEDELSICERT B,

import numpy as np

a = np.array([2, 4, 6, 8, 1, 3, 5, 71)

fl = (a > 5)
fl
# array([F, F, T, T, F, F, F, T])

f2=(@%2 =1
f2
# array([F, F, F, F, T, T, T, T

24



1 Rycledl / Z1IL5—

import numpy as np

0 2 3 5 6 7 8
v vV v
416(8(1|3|5|7 a = np.array([2, 4, 6, 8, 1, 3, 5, 71
f1 fl1 = (a > 5)
a[f1]
# array([6, 8, 71
£2 f2=(a%2==1)

a[f2]
# array([1, 3, 5, 71)

25



1 Ryclicdl / 7«15 —

import numpy as np

24/ 6/8|1[3|5|7 a = np.array([2, 4, 6, 8, 1, 3, 5, 71)

fl = (a > 5)
a[f1l]
# array([6, 8, 71)

f2=(~Q%2==1)
a[f2]
# array([1, 3, 5, 71)

71T —E—REHICREFE
Flc. EEFERAISZIEHTE

a[(a < 4)]
# array([2,

®o




1 Ryclcdl / 7«1IL5 —

BED7 1 IV —ZERTERATZIEHTES, D import numpy as np

m0. 719 —ZERBLEIC AND BRTERSD.  _ np.array([1, 3, 5, 7, 9,

OR BECENRIN EIEET INENH S, 2, 4, 6, 8, 0D
fl=(@%2==1
f2 = (a > 5)
a[fl & 2]

a[fl | f2]



1 Rclcdl / 710IL5—

import numpy as np

113|/5(7(9/2/4|6[8]|0 a = np.array([1, 3, 5, 7, 9,
2! 4! 6! 8! O])
fl fl=(a%2=1)
f2 f2 = (a > 5)
fl & f2
113/5(7|/9|2/4|6|8]|0 al[fl & f2]
f1 | 2

113|5(7(9/2(4|6|8|0 a[fl | f2]




1 RyTEcH /) 7«05 —

import numpy as np

1 7 214 a = np.array([1, 3, 5, 7, 9,
3|5 9 6/8|0 2" 4 6 8 oD

BT T T T T HEEEEG fl=(a%2==1
£2 [F|F £2 = (a > 5)
1 & £2
1/3[5[7]9]2]4]6]8]0 a[fl & f2]
£1 | f2

113|5(7(9/2(4|6|8|0 a[fl | f2]




1 RyThEH / 71 ILT —

Al T T T T T g

f2 |F|F

f1 &f2 |F|F

w
|| m
~
o
N ||
I
()]

import numpy as np

a = np.array([1l, 3, 5, 7, 9,
2, 4, 6! 8! O])

fl=(@%2 =1
f2 = (a > 5)
a[fl & 2]

# array([7, 9])

a[fl | f2]

30



1 RyThEH / 71 ILT —

import numpy as np

a = np.array([1l, 3, 5, 7, 9,
113|5(7|19/2(4|6|8|0 > 4 6 8 oD

FIF|F|F f1

(a% 2 =1)

f2 = (a > 5)

f2 |F|F

a[fl & f2]
# array([7, 9]1)

a[fl | f2]
# array([1, 3, 5, 7, 9, 6, 8])

31



FEICUEL #4E Bk

NumPy @ random €Y 2 —ILICI3RLELEZERT
SREDEEREINTWVWD, RORIC. —&RPHELVLE
RAab S ZERT 5BHERLIceo 2ThANICSH,
R OB3HPH IR RBEDT D SEBEERT
SEHHDSHATINTVWS, BDELREZICHANTES
& &Ly,

XYw R EhE

.rand(n) #H [0, 1) D—&72HHS n ED
BLEZ £ Ao

.normal(m, s, n) F¥EI m, EERE s DIERPHEHS
n B DELEZ £,

.randint(1, h, n) &EH [I, h) b5 n EOEHEHZLE
o

.shuffle(arr) Bcl arr DERZ v v 719 %,

.seed(s) BEY—KR%Z s ICEEY %,

import numpy as np

np.random.seed(2020)

np.random.rand(3)
# array([0.986276, 0.873391, 0.509745])

np.random.normal (5, 1, 3)
# array([4.115677, 3.762758, 4.291560])

np.random.randint(0, 2, 5)
# array([O, 1, 1, 1, 11)

a = np.array([1l, 2, 3, 4, 5, 6, 7]1)
np.random.shuffle(a)

a
# array([2, 7, 6, 5, 1, 4, 3]1)

32



[RlE N1-1

np.random.rand(n) B#u3. O<x<1 O—&SBHwH 5
n EDEHZERT HEHTH S, O<x<1 &V
O<y<1 DOEHMETIHZER L. TRIOLSIC. IEAFH
ICEFNSEBOEHE. F—RRICHSEMHDAME
IKCEENIEBOEBRICEH LT, MAXRZ/IME 3 17
(=3.141..) ¥TIEEICKDH Ko

| %0esen 0% & Lo AEA—HTHNIE. EARRBICS
o0 ENBIKOMEBE BUMARERS I
SFNZIBOEHROLD,. MEDE

'00‘0 ° ® o °
sots ',},-..{.-. P, | ROLISENTE B,
® o0 % o,
ceon®h,o S0\ EamEE: BUPRENRS = 1: 7/,

L F:'I >

import numpy as np

n
X

y

10000
np.random.rand(n)
np.random. rand(n)

33
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2 RTcEcHl

NumPy @D 2 XTESE. HitEEDBEZRFSE. HFD
THDESIC. BEDITHD IWIFEHMEHE LD, 1751
HEZ{TOIEDITBRIENTE D,

U3

fTH

BRI TSI

35



2 Xthc5l / np.array

2 RN ZEIERRT BICiE. 2 RITDY A MNZER LT,
Fh% np.array BEEICRKAT S & TIERRT %,

a

np.array([[11,
[21,
[31,
[41,
[51,
[61,

12,
22,
32,
42,
52,
62,

13,
23,
33,
43,
53,
63,

14,
24,
34,
44,
54,
64,

15,
25,
35,
45,
55,
65,

11

12

13

14

15

16

21

22

23

24

25

26

31

32

33

34

35

36

41

42

43

44

45

46

51

52

53

54

55

56

61

62

63

64

65

66

16],
26],
36],
46],
561,

6611)

36



2 Xythc5l / np.zeros, np.ones

2 Rkl 1 Ruhicdl ERAEkIC. AUEISESE b
5%Z{EBI5S. np.zeros. np.ones., np.full ZE®D
BHZEES, BH. 2 RakiDza. EefftovarX
ZHEEIT DDEDLH D,

np.zeros((2, 5))

37



2 X7tEc5l / np.full

2 Rkl 1 Ruhicdl ERAEkIC. AUEISESE a =
5%&{E3|BA. np.zeros. np.ones. np.full HRED
BHZEES, BH. 2 RakiDza. EefftovarX
ZHEEIT DDEDLH D,

np.full((5, 3), np.nan)

nan

nan

nan

nan

nan

nan

nan

nan

nan

nan

nan

nan

nan

nan

nan

38



2 XR7TEc% / np.identity

2 RTEFIDIZE. np.identity BIEEERL T, B
THZERT B EDTE S,

a

np.identity(6)

110,000 ]|O
O|1]0,0]0|O0
O/ O0|1T]]0]0)|O0
O] 0|O0|1T]0)]0
O]0|O0O|O0O|1]O0
O 0O|O0O|O0O|O]|1

39



2 RITHCHY

2RTTITHNDEBEZTFAND & =X, ndim, shape,
np.size B EZFAT S, ndim EBificiE. EFIDRIT
BHEZHmSINTWD, shape BHIClE. BEEIEE (Y
1X) BEEFEEINTWSB, £, np.size BEHEERT
52 & T, RINDIFEDRTDOY A XA ZRTT B &N
TE 5,

651
A

11|12 (13|14 | 15| 16

21 | 22 | 23 | 24 | 25 | 26

41T <
31 |32 | 33|34 | 35| 36

41 | 42 | 43 | 44 | 45 | 46

a = np.array([[11,
[21,
[31,
[41,

a.ndim

# 2

a.shape

# (4, 6)

np.size(a, axis=0)
# 4

np.size(a, axis=1)
# 6

12, 13, 14,
22, 23, 24,
32, 33, 34,
42, 43, 44,

15,
25,
35,
45,

16],
26],
36],

4611)

40



2 RITHCHY

2 Ry SBRZMO g LS, UBEESZHEEL b = np.array([[11, 12, 13, 14, 15, 16],

TROBLED, 51 ZLTHOMLEDTZZ EN L S50 v & Lo CE

T3, [41, 42, 43, 44, 45, 46],
[51, 52, 53, 54, 55, 56],
[61, 62, 63, 64, 65, 66]])
b[1, 2]
b[1, 2:5]

b[1:5, 3]

b[2:4, 1:6]
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2 RITHCHY

b = np.array([[11, 12, 13, 14, 15, 16],
[21, 22, 23, 24, 25, 26],
[31, 32, 33, 34, 35, 36],
[41, 42, 43, 44, 45, 46],

O 1 2 3 4 5 6 [51, 52, 53, 54, 55, 56],
op— 7 Y VY VvV VvV V¥ [61, 62, 63, 64, 65, 66]1]1)
11 15| 16
—p b[1, 2]
21 25 | 26 # 23
] =
31 35 | 36 b[1, 2:5]
o] =

41 | 42 | 43 | 44 | 45 | 46

Nig b[1:5, 3]
51 | 52 | 53 | 54 | 55 | 56

o>

61 | 62 | 63 | 64 | 65 | 66

©o» b[2:4, 1:6]

42



2 RITHCHY

b = np.array([[11, 12, 13, 14, 15, 16],
[21, 22, 23, 24, 25, 26],
[31, 32, 33, 34, 35, 36],
[41, 42, 43, 44, 45, 46],

O 1 2 3 4 5 6 [51, 52, 53, 54, 55, 561,
op— 7 Y VvV VvV VvV V¥ [61, 62, 63, 64, 65, 6611)
1111213 |14 | 15| 16
—» b[1, 2]
21 # 23
N>
31 b[1, 2:5]
il o # array([23, 24, 25])
41 | 42 | 43 | 44 | 45 | 46
g b[1:5, 3]
51 | 52 | 53 | 564 | 55 | 56
Lo »
61 | 62 | 63 | 64 | 65 | 66
©o» b[2:4, 1:6]
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2 RITHCHY

b = np.array([[11, 12, 13, 14, 15, 16],
[21, 22, 23, 24, 25, 26],
[31, 32, 33, 34, 35, 36],
[41, 42, 43, 44, 45, 46],

0O 1 2 3 4 5 6 [51, 52, 53, 54, 55, 56],
op— 7 Y VvV vV VvV V¥ [61, 62, 63, 64, 65, 6611)
11 (12|13 |14 | 15 | 16
— b[1, 2]
21 | 22 | 23 LW 25 | 26 # 23
N} 2
31 | 32 | 33 ZM 35 | 36 b[1, 2:5]
il o # array([23, 24, 25])
41 | 42 | 43 BZEW 45 | 46
Nig b[1:5, 3]
o 51|52 | 53 il 55 | 56 # array([24, 34, 44, 54])
61 | 62 | 63 | 64 | 65 | 66
©o» b[2:4, 1:6]

4.4



2 RITHCHY

b = np.array([[11, 12, 13, 14,
[21, 22, 23, 24,
[31, 32, 33, 34,
[41, 42, 43, 44,
[51, 52, 53, 54,
[61, 62, 63, 64,

b[1, 2]

# 23

b[1, 2:5]

# array([23, 24, 25])

b[1:5, 3]

# array([24, 34, 44, 54])

b[2:4, 1:6]

# array([[32, 33, 34, 35, 36],

# [42, 43, 44, 45, 46]1])

15,
25,
35,
45,
55,
65,

16],
26],
36],
46],
561,

6611)
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2 RITHCHY

b = np.array([[11, 12, 13, 14, 15, 16],
[21, 22, 23, 24, 25, 26],
[31, 32, 33, 34, 35, 36],
[41, 42, 43, 44, 45, 46],

O 1 2 3 4 5 6 [51, 52, 53, 54, 55, 56],
O>V v v v v v ¥V [61, 62, 63, 64, 65, 66]])
11[12]13|14 |15 16
—p b[3:5, 2:]
21 | 22|23 |24 |25 |26
N
31 (32|33 |34|35]|36 b[3:5, :]
12] 3

41 |42 | 43 | 44 | 45 | 46

<> b[:, 2]
51 | 52 | 53 | 54 | 55 | 56

o>

61 | 62 | 63 | 64 | 65 | 66

©o» b[:, 1:3]
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2 RITHCHY

b = np.array([[11, 12, 13, 14, 15, 16],
[21, 22, 23, 24, 25, 26],
[31, 32, 33, 34, 35, 36],
[41, 42, 43, 44, 45, 46],

O 1 2 3 4 5 6 [51, 52, 53, 54, 55, 56],
op— 7 Y VvV VvV VvV V [61, 62, 63, 64, 65, 66]1)
1112|183 | 14|15 | 16
—p b[3:5, 2:]
21 |22 |23 |24 |25 | 26 # array([[43, 44, 45, 46],
] 2 # [53, 54, 55, 56]11)
31 b[3:5, :]
] 3
41
<> .
51 b[:, 2]
To) 2
61
©o» b[:, 1:3]
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2 RITHCHY

b = np.array([[11, 12, 13, 14, 15, 16],
[21, 22, 23, 24, 25, 26],
[31, 32, 33, 34, 35, 36],
[41, 42, 43, 44, 45, 46],
[51, 52, 53, 54, 55, 56],
[61, 62, 63, 64, 65, 66]]1)

b[3:5, 2:]

# array([[43, 44, 45, 46],

# [53, 54, 55, 56]1)

b[3:5, :]

# array([[41, 42, 43, 44, 45, 46],
# [51, 52, 53, 54, 55, 56]])
b[:, 2]

b[:, 1:3]
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2 RITHCHY

1) 2

< >

o>

(o] 2

11

21

31

41

51

61

b = np.array([[11, 12, 13, 14, 15, 16],
[21, 22, 23, 24, 25, 26],
[31, 32, 33, 34, 35, 36],
[41, 42, 43, 44, 45, 46],
[51, 52, 53, 54, 55, 56],
[61, 62, 63, 64, 65, 66]]1)

b[3:5, 2:]

# array([[43, 44, 45, 46],

# [53, 54, 55, 56]1]1)

b[3:5, :]

# array([[41, 42, 43, 44, 45, 46],
# [51, 52, 53, 54, 55, 56]]1)
b[:, 2]

# array([13, 23, 33, 43, 53, 63])

b[:, 1:3]
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2 RITHCHY

b = np.array([[11, 12, 13, 14, 15, 16],
[21, 22, 23, 24, 25, 26],
[31, 32, 33, 34, 35, 36],
[41, 42, 43, 44, 45, 46],
[51, 52, 53, 54, 55, 56],
[61, 62, 63, 64, 65, 66]]1)

b[3:5, 2:]

# array([[43, 44, 45, 46],

# [53, 54, 55, 56]11)

b[3:5, :]

# array([[41, 42, 43, 44, 45, 46],
# [51, 52, 53, 54, 55, 561]1)
b[:, 2]

# array([13, 23, 33, 43, 53, 63])

b[:, 1:3]
# array([[12, 131, [22, 23], [32, 33],
# [42, 43], [52, 531, [62, 63]11)

50



2 Rth / F

—_—
I%\II\\

o] 2

N>

1) 2

< >

o>

(o] 2

40

4N

4w

4b

40

4O

11

12

13

14

15

16

21

22

23

24

25

26

31

32

33

34

35

36

41

42

43

44

45

46

51

52

53

54

55

56

61

62

63

64

65

66

b = np.array([[11,
[21,
[31,
[41,
[51,
[61,

r = [0, 2, 4]

c = [1, 3, 5]

b[r, c]

12,
22,
32,
42,
52,
62,

13,
23,
33,
43,
53,
63,

14,
24,
34,
44,
54,
64,

15,
25,
35,
45,
55,
65,

16],
26],
36],
46],
561,

6611)

o1



RITHA / EFER

N>

1) 2

< >

o>

(o] 2

11

15

©

21

23

25

26

31

33

35

©,

41

43

45

46

51

53

55

©,

61

63

65

66

b = np.array([[11,
[21,
[31,
[41,
[51,
[61,

r = [0, 2, 4]

c = [1, 3, 5]

b[r, c]

12,
22,
32,
42,
52,
62,

13,
23,
33,
43,
53,
63,

14,
24,
34,
44,
54,
64,

15,
25,
35,
45,
55,
65,

16],
26],
36],
46],
561,

6611)

52



RITHA / EFER

o] 2

—p

N>

1) 2

< >

o>

(o] 2

4O

O 1 2 3 4 5
v v A 4 v v v
]13 14 |1 15| 16
21 | 22 | 23 | 24 | 25 | 26
31 | 32 3335
41 | 42 | 43
51 | 52 | 53
61 | 62 | 63

b = np.array([[11,
[21,
[31,
[41,
[51,
[61,

r = [0! 2! 4]
c = [1, 3, 5]
b[r, c]

# array([12,

34,

12,
22,
32,
42,
52,
62,

561)

13,
23,
33,
43,
53,
63,

14,
24,
34,
44,
54,
64,

15,
25,
35,
45,
55,
65,

16],
26],
36],
46],
561,

6611)

53



RITHCS / EER

O 1 2 3 4 5 6
v vV vV Vv Vv Vv

HEHHH

32 < 35

H

b = np.array([[11, 12,
[21, 22,
[31, 32,
[41, 42,
[51, 52,
[61, 62,

r = [0, 2, 4]

c = [1, 3, 5]

b[r, c]

# array([12, 34, 56])

blnp.ix_(r, c)]

# array([[12, 14, 16],

# [32, 34, 36],

# [52, 54, 56]1])

13,
23,
33,
43,
53,
63,

14,
24,
34,
44,
54,
64,

15,
25,
35,
45,
55,
65,

16],
26],
36],
46],
561,

6611)

24



1THER

NumPy @ 2 RcESIIC. TIBRENERINTWS,
A DB ERELDOMBEROMIC. ABPABELHAHE

ICKDHBZEDTES,
FrEX FrERE
a+b BERDEULVERE
a-b BEXRDSIZR
a*b BEROBMNIE (FYV—ILHE)
a/b BFEZRDIOLE
np.dot(a, b) TR DONE
np.outer(a, b) {TIIRILTOAE (T VILE)
np.sum(a) SERDF
a.T 175 a DEETTH

import numpy as np

a = np.array([[1, 2, 3],

[4! 5! 6]!
[7, 8, 911)

b = np.array([[1, 1, 11,
[0! 1! 1]!
[0, O, 111D

a+b

# array([[ 2, 3, 4],

# [ 4, 6, 7],

# [ 7, 8, 1011

np.dot(a, b)

# array([[ 1, 3, 6],

# [ 4, 9, 15],

# [ 7, 15, 24]])

55



[RlRE N2-1

175 a IEX LT 2x2 SEDRKRT—Y VT EEZITL.

ZDEReHNE L,

AB1T51 a

‘l-|~

-1 O
OIN

Ol—= N W
WO N —

5
3
0
2
1
1

olwl —=|No

NINONOINMN
OIN|—=|=IN| O

~-

HEIER

2
3

|BE

2

3

3

2
2
2

a = np.array([[O0,
[1,
[3,
[2,
[1,
[0,

WONREFEONDN

R FEL,NOWO

OWRENOR

NNONON

0],
2],
1],
1],
2]

. 011D

o6



[RlRE N2-1

75 a I U T 2x2 SEEDTRKRK7T—IY >V JEEZITL.. a = np-array([Eg, (2), g, (1), (2), (2)%
TDOHEREHAE L, (3. 1, 0, 2, 2, 11,
[2! 2! 2! 1! 0! 1]!
[1! 0! 1! 3! 2! 2]!
[0, 3, 1, 0, 2, 011D

AA1T5 a
0/2]0|1|20|~-~-~__ RERR
1002 2.2
3(1/0(2(2]1]  [3]2]2
2221|001 3|32
1lo]1]3]|2]2
ol3|[1]/0]2]0




[RlRE N2-1

75 a I U T 2x2 SEEDTRKRK7T—IY >V JEEZITL.. a = np-array([Eg, (2), g, (1), (2), (2)%
TDOHEREHAE L, (3. 1, 0, 2, 2, 11,
[2! 2! 2! 1! 0! 1]!
[1! 0! 1! 3! 2! 2]!
[0, 3, 1, 0, 2, 011D

AB1T5 a
o[2[o[1]2]0] "~ -- mmm=
1030 2[3[2]
3[1|ol2[2T1]  [3]2]2
2/2]2]1]0]1 3/3]2
1/o[1]3]2]2
o/3|1]o0[2]0




175484E / np.concatenate

np.array([[1, 0], [0, 111D
np.array([[1, 2], [3, 41D

np.concatenate B§#d. EHEDNumPy EFlZzHEE a
T BMEEERD, COEBEESEE. BATIH (R
72) BE%E axis BB TEE. NS X0 = np.concatenate([a, b], axis=0)

x0
axis=0 &% 3, # array([[1, 0],
# [0, 11,
d b x1 # [1, 2],
10| |1]2 axis=1 10|12 # [3, 411D
>
O |1 3|4 O|1|3|4]| x1 = np.concatenate([a, b], axis=1)
x1
axis=0 # array([[1, O, 1, 2],
v # [0, 1, 3, 4]11)
110 c = np.array([9, 9])
0|1
x0 y0 = np.concatenate([a, c], axis=0)
1|2 # valueError: all the input arrays must
3 # have same number of dimensions, . 59




175138 4E / np.vstack

np.vstack BE#IIEHDEIZEE 1 RITAMICHES a = np.array([[1, 0], [0, 1]
DHEEZFF D, axis=0 D& ZD np.concatenate B b = np.array(L[1, 21, I3, 411
HOKELERU, _
X = np.concatenate([a, b], axis=0)
X
# array([[1, O],
a b # [0, 11,
10 1|2 # [1, 2],
# [3, 41D
0|1 3
axis=0 y = np.vstack([a, b])
v y
# array([[1, 0],
1] 0 # [0, 11,
0|1 # [1, 2],
x0 # [3, 41D
1|2
3




1751384 / np.hstack

np.hstack BI#IIERDEIIZE 2 RITAFMICHES
DHEEEZEIF D, axis=1 DEZD np.concatenate H

BOHEEL R U,

axis=1

H H X X T o

H #K K

np.array([[1, 0], [0, 111D
np.array([[1, 2], [3, 41D

np.concatenate([a, b], axis=1l)

array([[1, O, 1, 2],
[0, 1, 3, 4]11)

np.hstack([a, b])

array([[1, O, 1, 2],
[0, 1, 3, 4]11)

61



1T5484E / flatten

flatten B%IX. ZRTEIZ 1 RTEIICEET S
B THD, ZRITEIZAET EEIC. EARADLSET
DhH (order='C'). ftAEAMNSEIT DI (order=F')
ZIEEITDILEHTES,

HH X

HK K

np.array([[1, 0, 2, 4],
[0, 1, 3, 91D

= a.flatten()

array([1, 0, 2, 4, 0, 1, 3, 9]

= a.flatten(order="F"')

array([1, 0, 0, 1, 2, 3, 4, 9]
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1T5U41E / reshape

reshape B#d. ZRTERIIOEEZZERT ZEET
%%, reshape ® 1 DHDS|HICEHROBEEY R
NTIEET %, £fc. order 3|1 ZIEEI D& T,
ERTERFNDT—5 2 HHMBHAEEETZIELT
=50

reshape BE#EZFIAHUL TERULURESIE,. TTDHEFID
Ea—FfcdbE—EHBo2TWVWS, XEY—BREPEIID
B RLL>TEa—DAE—DRESND, LIch>
T, EREROEIDEZEEIT S &, EFRTOETIDIE
b Th BTN B 3.

np.array([[1, 2, 2, 3],
[0, 1, 2, 6],
[0, 0, 1, 91D

a

y = a.reshape([12])
y

## array([1l, 2, 2, 3, 0, 1, 2,
## 6, 0, 0, 1, 91

X = a.reshape([4, 31)
X

## array([[1, 2, 2],
## [3! 0! 1]!
## [2! 6! 0]!
## [0, 1, 91D
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1T5U41E / reshape

reshape B#d. ZRTERIIOEEZZERT ZEET
%%, reshape ® 1 DHDS|HICEHROBEEY R
NTIEET %, £fc. order 3|1 ZIEEI D& T,
ERTERFNDT—5 2 HHMBHAEEETZIELT
=50

reshape BE#EZFIAHUL TERULURESIE,. TTDHEFID
Ea—FfcdbE—EHBo2TWVWS, XEY—BREPEIID
B RLL>TEa—DAE—DRESND, LIch>
T, EREROEIDEZEEIT S &, EFRTOETIDIE
b Th BTN B 3.

a = np.array([[1, 2, 2, 31,
[0, 1, 2, 6],
[0, O, 1, 911D

y = a.reshape([12], order="F")

y
## array([1, O, O, 2, 1, O, 2,
#it 2, 1, 3, 6, 91)

X = a.reshape([4, 3], order='F')
X
## array([[1, 1, 1],

## [0, O, 3],
## [0, 2, 6],
#i# [2, 2, 9]1])
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1T5U41E / reshape

reshape BE#IC T, ZEREEDEIDBEZIEETSHE a = np.array([[1, 2, 2, 3],
[0, 1, 2, 6],

Zlc, -1 ZIBEITBCEDHTED, -1 THEESINER [0, 0, 1, 911D
T A XE, tHDRTDHA AHhSHEMICHESIN
Do yl = a.reshape([2, 2, 3])

yl

# array([[[1, 2, 2],

# [3, 0, 111,

# [[2, 6, O],

# [0, 1, 911D)

y2 = a.reshape([2, 2, -1])

y2

# array([[[1, 2, 2],

# [3’ 0’ 1]], ald 12 ExR, RYID 2 RITIC
# [ [2 ’ 6 ’ 0] ’ 2ERIOZERBELLEES. B
= [0 o1, 9111) #ZORTIEEEFNIC 3 [£5 5,

65



NumPy

O 1 kTEF!
O 2 RycE3!
O 3 ®kcH3!
O F—9DHRHEE



3 Ryhcy!

3 R, HRFRDOEZICLLEDOND, TIF
WAASTRSNTWSEEDEIR, K-fx-FD 3

FRBICL>TERENDS, £DIcth. it n 8 m DEEEI.

N XxXm DEFIDEXEITHD., Z0F (h, m) EXRICE
RGB @ 3 DDEZRIESEFNTVWERLSICKE DS,

np.array([

OO OO0

array([[[1

FRFORRORKRORRO

11, [1,
11, [1,
11, [1,
11, [1,
11, [1,

1]
0]
1]]
1]
0]
1]]
1]
0]
1]]
1]
0]
1]1]

=W S

[1,
[1,
[1,
[1,
[1,

RPRRRR

111,

111,
111,
111,
1]]
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NumPy

O 1 kTEF!
O 2 RycE3!
O 3 &kl
O F—9DHRHEE



F—YDBEHL / N1+ —

NumPy OEINFT—F7ETFARNT7AIVICEZTHULT
REIDHERF. 2 EDHZ, 1 2iF. EINT—FZN
1T IEXTEELHITAETH D, CDIBEA. T—FD
BEPAYBHROARKICEZHINS O, BHROXRIE
BBV, 1 DOEEFIZ 1 DO7 7L ILICRET S &
&, save BAHZEES, BREDEINZE 1 DOT7 71
ICRTFI DL E. savez Z{ES,

<93>NUMPYAAA@VAQ@{ 'descr':
'<i8', 'fortran_order':
False, 'shape': (5,), }
AAA@A@QAQ@AQ@A@AQ@A@ABA@A@A@AQ@A
@AG@AG@ACA@AG@AGA@A@A@A@ADA@A@
A@A@A@QA@AQ@AEAQ@AGAQ@AQ@A@AQ@A@

.npy 4

# binary (.npy)
a = np.array([1l, 2, 3, 4, 51)

np.save('data.npy', a)

# binary (.npz)

a = np.array([1, 2, 3, 4, 5])
b = np.array([0, 0, 1, 0, 1])
np.savez('objects.npz', a = a,

b

b)
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T— 9 DEdriddr [ INAF V) —

NumPy ONALFUF—HZFEFZLTVWBR 7715
TF—HEHHFAD EEIC load BEZEFERT 5, EHOD
RINZZCT7 7N ZEHRHAH AL EZED load B ZER
I5H. ZOE. BEHEORNETs >3+ Vil

—IBETAT VIV MRASTNhD, ZDATI
7 b files BlEICIE. EHNDBRD—ENRFSNT
W5,

# binary (.npy)

a = np.load('data.npy')

*+ Q

array([1, 2, 3, 4, 5])

# binary (.npz)

X = np.load('objects.npz')
x.files
# [Ial, Ibl]

x['a']
# array([1, 2, 3, 4, 5]1)

x['b']
# array([O0, O, 1, O, 11)
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T—Y9DEESHL / TFAb

NumPy DEIITFT—YZ7 7L ILICRETSHS 1 D # text (.txt)
DRHER. BINTF—YZ2TFANT—YEULTEEFHT
HiETH 3. AHEEIFHZIEDD. HTHDSVWINEGE
ZIEEICRETERWC EDH D, TF AT 7LV E np.savetxt('data.tsv', a)
EUTEEHIT L=, savetxt BHZFERHT S, <D

HEDATa VB EITSHILET, T—YHEHDEXYID  np.savetxt('data.csv', a,

" s . fmt="%.18e",
XFCINEOENHRERET 5T ENTES, delimitere’ ")

a = np.array([1l, 2, 3, 4, 51)

1.0000000000000000e+00
2.0000000000000000e+00
3.0000000000000000e+00
4.0000000000000000e+00
5.0000000000000000e+00

1Ixt 4 71




T—=ADFHEHIAH | TFAB

THFANT 7L ZEHRHFAD EZIC loadtxt BEEK  # text (.txt)
I& genfromixt BEZEMY %, loadixt BHZEMA
§5EE, RAAAFICTTI—DREVIEES, 774 ;
IWDORYIDXFPAYyH—cEHPET. loadtxt BEE®D
A7vavaEREIZLETHAOATES, Fk.
loadixt BAHIERIBEEZZL 7 7ML 2B TELRWE

. RIBEZSTHES. genefromtxt B {ERT %,

= np.loadtxt('data.txt')

array([1., 2., 3., 4., 5.])



B SIEHERIEER | @

(O NumPy
(O Pandas



<%

@ python’ N2 NumPy

PT7VRAEPCPVATLERBR ERALTBH BRIk —2Icd LT, [EHEE T
ECHHRATESSSBNABEZIRHET TR EEST I, BRICEEZITS
3, B BT 5,

. YRk . B

. 2RFTYRK . 2 RS

EP
:

:_)'?} — BEHL «— F—VER <

74



@, python’

FP7IRRERPY AT LEBRERRGH
BCTHATESLSBNAKEZRMHT
%o

- UAXb

« 2RXTIYRBK

mlpandas

CSV 771 ILDHRHEEPRT—FD
RIFPEBELGEISE L BEZRMT
%o

e

N?#7 NumPy

BEShkT—9cdULT, BHREZT
EBREFBESTIC, BRICEREZTS
BEEZRHMT 5,

- Ec5l

« 2 RTEc

o —> BB > F—SER ﬂ \
cslh — ForIA B T — 4 Fii0IE » HE
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Pandas
Oyv—-x
O F7F—97L—L4
O RF—F0E




I1)—X

Pandas YV —XE. 1 REDEIF—7&ikKS5 &
ECfEAT %, pd.Series BEA#ICY AN ZRALTHE
B33, YVIV—XHSERZMOHT EER. UEES
ZEELTHOEHT,

import pandas as pd

x = pd.Series([1, 3, 5, 7, 9])
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I1)—X

D—XR. VAMEELGD, BEZzUEES L
index OMMATEELTWS, ¥YYU—X% pd.Series
B TIERT % & EIC, index HEEIRICES DD,
HSEELTESZLHTES,

index — a
|

V)—ZADERERICNEES
Dfttic index EMEEFN 3R

51hMFIF 5N B,

import pandas as pd

= pd.Series([1, 3, 5, 7, 9])

H W HHH X X
ONVTIWwR

0
1
2
3
4
dtype: 1nt64

= pd.Series([1, 3, 5, 7, 9],
index=['a', 'b', 'c', 'd’,

X

H W FH W H KX
ONVTIWwR

type: int64

lel])

/8



P,

V) —-X%&EKT D EE. XFH%Z index ICIEELE
« TONFHITOY—XDBRERZNETES LS

I8 %,

01 2 3 45
VVVVVV
index —a b c e
1359

import pandas as pd

x = pd.Sseries([1l, 3, 5, 7, 91,
'index=['a', lbl’ ICI, ldl’ lel])

H H H HH KX
ONVIwRE

type: int64

x['c']
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I1)—X

V)—XE, {EE index DEADT—HZFEEFL TL
%, YI—XH5EREIFZ NumPy @ 1 RitEileE U
THEULEWERIIE. x.values D&LSICEIET %, F
oo YU—=XH5 index EIFZIFLREWESIE.
x.index Z{EHY %,

import pandas as pd

X

H H W HH* X

HH X

H X

= pd.Series([1, 3, 5, 7, 9],
'index=['a', lbl’ lcl, ldl’ Iel])

ONUVTWE

type: int64

.values

array([1, 3, 5, 7, 91)

.index

Index(['a"', 'b', 'c', 'd', 'e'],
dtype='object')
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I1)—X

D= SEFZEIT D EE,. UEBEES E index  import pandas as pd
x = pd.Series([1, 3, 5, 7, 9],

THIE TE3I1Eh NumPy DEISICAFZLALED, 'index=['a', 'b', ICI’ Idl, 'e'])
721905 — (F7=I7RIN) Z2FEBLTERLE

x[x < 5]
NTBHIEHTES,

x[1:3]

k = [Ibl’ lcl’ lel]
x[k1]

81



Y-

X<5 mpmm F | F

import pandas as pd

x = pd.Sseries([1l, 3, 5, 7, 91,

index=['a', 'b',
x[x < 5]
# a 1
# b 3
# dtype: int64
x[1:3]
# b 3
# C 5
# dtype: int64
k= [Ibl’ 'C', lel]
x[k]
# b 3
# C 5
# e 9
# dtype: int64

lcl’

Idl,
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[FlRE P1-1

KRETEMTVWBSAT I I MHMERBLTWBEZEZ &K

import pandas as pd

= pd.Series([1l, 3, 5, 7, 9],
lbl ,

index=['a',

X[['a', 'CI, Iel]]

keepl = (1 < x)
keep2 = (x < 7)
x[keepl & keep2]

'C',

ldl’

import pandas as pd

= pd.Series([1, 3, 5, 7, 9],
index=["'a', 'b',

x['a'] = 2
x[0] =
X.values

xX[x > 4]
X.values

I
(o))

X[x % 2 == 0] =
X. va1ues

'CI,

Idl,
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YU — AR+ D5HE

1) —X[E=TIFE NumPy Ofchl & BHRICMEIEED T  import pandas as pd
BETH D, HHEHNRDVYY —XDRSIHDE—TRHRWES pd.series([1, 3, 5, 91)

X =
. BT E. BWHICREBEEZESDAARE LTEHHEE Y = pd.Series([2, 4, 6, 8])
\ z = pd.Series([1, 1]1)
hd, £le. YV—XERAT—DFAEBEEINTY  w =2
%, CDIFF. ANF7—HBEENIC. YJV—XERAUER
a=X+Y

SICEBREZENT, #d8H»1TbNS (7O0—KFF+¥AK) o a.values
#array([ 3, 7, 11, 171

b=x- 12z
b.values
# array([ 0., 2., nan, nan])

C=X*w
c.values
# array([ 2, 6, 10, 18])
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YU — AR+ D5HE

) —ZXIC index BD2WTWBIES. 5HEIZ index IC
HOWTEHEE NS, E55h—ADYU—-XICcUDTE
ZFULGEWL index DIFES. FEULEBWVWAZRIBEELT
S,

HEZOERIE index IEICIEA

BAibhd, x*y & y*x Dt
BERIIFAU TH S,

import pandas as pd

pd.Series([1, 3, 5, 7],
index=["a', 'b', 'c', 'd'])
= pd.Series([2, 4, 6, 81,
index=['d', 'c', 'b', 'a'l])
=X +Yy

.values

array([9, 9, 9, 91)

pd.Series([1, 3, 5, 7],
index=['a', 'b', 'c', 'd'])
= pd.Series([2, 4, 6, 81,
index=['a', 'b', 'd', 'c'])
=X *y

.values

array([ 2, 12, 40, 42)

85



2V —XFELDFRE

VY —XIC index B2WTWBIES, 5tHII index IC  import pandas as pd
BEOWTEHEEIN S, EE55h—FDYY—=XICUDLE

ZELEL index DBEE. EELBWAERIBMEELT X = pd.series([1, 3, 5, 7],

index=['a', 'b", 'd", 'e'D

WS,

y = pd.Series([2, 4, 6, 8],
index=['a', 'b', 'c', 'e'])

a=XxX+Y

a.values

# array([ 3., 7., nan, nan, 15.])

b=x%*y

b.values

# array([ 2., 12., nan, nan, 56.])



BT E

Pandas O —XIZH LT, Fi9, S8 PREGEDEHNREHEZTHEITSIAV Y RHS<LHAESThTWS,

import numpy as np x.sum(Q)
import pandas as pd # 15
X = pd.Series([1, 2, 3, 4, 51)

x.mean()
x.count() # 3.0
#5

x.median()
x.minQ # 3.0
# 1

x.var(Q)
X.max() # 2.5
#5

x.std(O
X . idxmax() # 1.5811388300841898

# 4
.cumsum() .values
X.quantile(0.25) array([ 1, 3, 6, 10, 151D

# 2.0 237,

H X



RiE(E / dropna

Pandas O —XICRiE(E - FFEME (hp.nan) Z&  import numpy as np
B3z ENTES, RIEEE. Pandas THEEhf "PorC pandas as pd

AVy REFES>THOBRWED, Z0fE%HANLDY X = pd.series([1, 3, np.nan, 7, np.nanl)
X
52 EDTED, # 3 1.0
#b 3.0
\ W AR\ > # C NaN
XYY - Ll # d /7.0
dropna V) —ZXHD np.nan ZBDER< # e NaN
fillna VY —=XH®D np.nan Z{ELIIETE # dtype: float64
EZ D,
isnull Y —ZXHDOEEERD np.nan HESH y = x.dropna(Q)
% True & False TX9Y, y .
: Y #0 1.0
notnull is.null E R DEMEZITSo 41 3.0
# 3 7.0
# dtype: float64

ﬂ RIBMEBRERDY ) —XDERKHELT 20T, EROVY—
AERBICHEFT LS. ERMOEVICEDIO—RFr b
BEENEBIE, MENDHENTONZAMRNH S EITER, 88



RigfE / fillna

Pandas DY) —XICXRIE(E - IEHME (hp.nan) #&  import numpy as np

BB ENTES, RIEME. Pandas TAEEn "POTt pandas as pd

AVy REFE>THOBRWED, Z0fE%HANLDY X = pd.series([1, 3, np.nan, 7, np.nanl)
3T EHTES,

y = X.fil1na(0)
Y w IO y

¥/ F \ wlls #0 1.0
dropna Y —=XH®D np.nan ZEODER< . # 1 3.0
fillna =D np.nan ZIEELETE # 2 0.0

=2 3, #3 7.0
isnull V) —ZXHDEFEFRD np.nan HhESH # 4 0.

% True & False T&Y. # dtype: float64

notnull is.null &ERXFOEEZTTSo

A SEWLBBRIAE LIS, TATOREEEEED@EICESRI TR
B51W, fillna XYy REFERATZIEERTPICEET I L, 89



RIE(E / isnull

Pandas O —XICRiEfE - FEEME (np.nan) 25 1:mport numpy as np
$BZENTED, RIMER. Pandas THAE&nf MPOrt pandas as pd
XYy RZzFE>THDORWED, ZOMEBZHRANREDY X

pd.Series([1, 3, np.nan, 7, np.nan])

5ZEDTES,
y = X.isnull1(Q)
A Y AR\ Y » y

>/ F \ wlls # 0 False
dropna Y —=XH®D np.nan ZEODER< . # 1 False
fillna V=D np.nan ZI_EUVIETE # 2 True

FiZ 5, # 3 False
isnull V) —ZXHDEFEFED np.nan HESH # 4 True

% True & False T&Y, # dtype: bool

notnull is.null &ERXFOEEZTTSo
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RIE{E / notnull

Pandas DY) —XICXRIE(E - IEHME (hp.nan) #&  import numpy as np

BB ENTES, RIEME. Pandas TAEEn "POTt pandas as pd

AVy REFE>THOBRWED, Z0fE%HANLDY X = pd.series([1, 3, np.nan, 7, np.nanl)
3T EHTES,

y = X.notnull(Q
\ W AR\ » y

¥/ F \ lls # 0 True
dropna Y —=XH®D np.nan ZEODER< . # 1 True
fillna =D np.nan ZIEELETE # 2 False

FiZ 5, # 3 True
isnull V) —=ZXHFDEEFED np.nan HESH # 4 False

% True & False T&Y, # dtype: bool

notnull is.null &ERXFOEEZTTSo
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Pandas
Oyv—-x
O F7F—97L—L
O RF—F0E




—

T—

47 L—L / pd.concat

Pandas T, TR DT—59%Z2T7—9 7L —LEE
Bo T—HI7L—L4LIF. YV—XZ{TAMASHDWIFA
[MICRRZZETERES NS, YV—XFELTZERRZ L
& pd.concat E#ZERT %,

a b C
0 2
0 3 4
0 5 6
axis=0

©|O| O

|

O [DN/O|W

import pandas as pd

HH M M HH HHHHX X

HH X

= pd.Series([0, O,
pd.Series([1l, 3,
pd.Series([2, 4,

= pd.concat([a, b,

APAPNVTWREREOOO

type: int64

.__class__.__name

'Series’

01)
51)
61)



—

T—

47 L—L / pd.concat

pd.concat ¥ D axis 5|¥ZIEEIT DI & T, EH
DY) —XZFAFMICKRRZZEHTE S,

o

w

axis=1

O|O0O|O|w

o1

o | DNIO

import pandas as pd

a = pd.Series([0, O,
b = pd.Series([1, 3,
c = pd.Series([2, 4,
y = pd.concat([a, b,
y

i 0O 1 2

#0 0 1 2

#1 0 3 4

#2 0 5 6
y.__class name

# 'DataFrame'

01)
51)
61)

c], axis=1)
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F—57L—L [ F1493FY)

JANZEEUVLTRELTWBR T Va3 F %,
Pandas D7 —% 7L —ALICEBRTI B EHTE S,
CDEE. T147aFIDF—F. T—Y7L—LD
NBlICEEN 5,

import pandas as pd

d = {'buna' : [1, O,
'kashi': [1, 3,
'nara' : [0, 2,

df = pd.DataFrame(d)

df

# buna kashi nara

# 0 1 1 0

# 1 0 3 2

# 2 1 5 4

# 3 0 7 6

# 4 1 9 8

S R

S NO

o O
e e L
e
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—\

—

—

T—5L—L/

«varVy

D)—XZEELTRFELTWVWSE T 2723+
Pandas O7F—% 7L —LICERTEZILEHTES,
T14723FIDx—F. T—57L—LDIZICEH
Ehd, £leo YU—XO® index l&. 7—77L—L4A

® index (1T748) IKE#REh S,

import pandas as pd

wl = pd.Series([1, O, 1, 0, 1],
'index=['a', 'b', ICI’ Idl, lel])

w2 = pd.Series([1, 3, 5, 7, 9],
'index=['a', 'b', ICI’ Idl, lel])

w3 = pd.Series([0, 2, 4, 6, 8],
'index=['a', 'b', ICI’ Idl, lel])

d = {'buna': wl, 'kashi': w2,

"'nara': w3}

df = pd.DataFrame(d)

df

# buna kashi nara

# a 1 1 0

#Db 0 3 2

# C 1 5 4.

# d 0 7 6

# e 1 9 8
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—\

—

—

T—5L—L/

«varVy

index 2882 U—XDIBE/. T—F7L—LIEEEN

50 index ICEDDWTHESN S, T

—57L—LI

index THEREZSN 5. ZDIEHFRZBHITLEY

) —ZXDIEEZRRULEGW EITER,

import pandas as pd

wl = pd.Series([1, O, 1, O, 1],
.index=[lbl, lal, 'C', Idl, lfl])
w2 = pd.Series([1, 3, 5, 7, 9],
.index=[lal, lbl, 'C', I.Fl, lel])
w3 = pd.Series([0, 2, 4, 6, 8],
.index=[lcl, lbl, lal’ Idl, lel])
d = {'buna': wl, 'kashi': w2,

"nara': w3}
f = pd.pataFrame(d)
f

kashi n
1.0

buna
0.0

r

HHHHHFHH*OQCO
-~ OnN TN
RZORK
oOZooo
Z0OOONDIMDY
Z0000O0ON

\ILOEWUU
O Z0OO0O
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TFT—57L— .L\/—/ATISUZF

“REVANZERL. ENZET—Y 7L —LICEET
22LH5TED, COBIC. T—7 7L —LD5A
(columns) &1748 (index) HBEEIMICIES N3,
BE. T—97L—LZERT B EEIC, columns &
index SIMZfIAITSC LT, FAELITRZERICD

752 EDHTES,

import pandas as pd

H H*H HHQ

= pd.DataFrame([[11,
[21,
[31,
O 1 2 3
0 11 12 13 14
1 21 22 23 24
2 31 32 33 34
= pd.DataFrame([[11,
[21,
[31,
index=["'R1',

columns=["'Cl',

Cl C2C3 4
R1 11 12 13 14
R2 21 22 23 24
R3 31 32 33 34

12,
22,
32,

12,
22,
32,

'RZI,
ICZI,

13, 14],
23, 24],
33, 34]11)

13, 14],
23, 24],
33, 3411,
'R3'],

'c3', 'ca'D
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T—97L—L [/ 1TREIE

T—%7L—L0 index & columns ([&. BEHSE
BIBIEDNTED, 7—97L—LD index &
columns B ICEZEHRUWEIZRATZ L TEE
TE %,

ﬂ BEDHXIXTOAFETZZEELEWE ZE, Pandas
M rename XYw R%Z{ERAYT 3 EEFITH S,

https://pandas.pydata.org/pandas-
docs/stable/reference/api/pandas.DataFrame.rename.html

import pandas as pd

d = pd.DataFrame([[11,
[21,
[31,

index=["'R1"',
columns=['C1",

d

# Cl Cc2 cC3
#R1 11 12 13
# R2 21 22 23
# R3 31 32 33
d.index = ['x',

d.columns = ['h'
d

# h i j k

# x 11 12 13 14

#y 21 22 23 24

# z 31 32 33 34

c4
14
24
34

13, 14],
23, 24],
33, 3411,

'R3'],
'C3',

lkl]

'c4'])
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F—47L—LEFRSH /iloc

— S 7L—LDSEFRZINSISAEELT, (UEEF  import pandas as pd

>
SeMALTH., TE - JNR%ZFIALTHRRETE %, d = pd.pataFrame([[11l, 12, 13, 141,
MEBESTIET 3BAIE. iloc ZFERAL. 0 HhSHBE [21, 22, 23, 24],
B _ [31, 32, 33, 34]1],
HNNEBEESZH5Z %, index=["R1', 'R2', 'R3'],
columns=['cl', 'c2', 'c3', 'c4'])
Cl C2 C3 C4
Ml 11 12 13 14 d.iloc[0, :]
# Ccl 11
R2| 21|22 |23]|24 # C2 12
# C3 13
R3(31 (32|33 ] 34 # c4 14
d.iloc[:, 2]
R1|11 |12 14 # R1 13
R2| 21 | 22 24 zig gg
R3| 31| 32 34 ]OO




F—47L—LEFRSH /iloc

import pandas as pd

d = pd.pataFrame([[11, 12, 13, 14],
[21, 22, 23, 24],
[31, 32, 33, 34]1,
index=['R1', 'R2', 'R3'],
columns=['Cc1l', 'c2', 'c3', 'c4'])

Cl C2 C3 C4
d.iloc[0:2, 1:4]
# C2 C3 C4
# R1 12 13 14
# R2 22 23 24
R3(31 (32|33 | 34
NumPy DEI{E & &
BRB50DT, MEZEMA
d.iloc[[0, 2], [1, 3]1] LEBEWESIC,
# C2 C4
# R1 12 14
# R3 32 34
101




T—97L—LEZSHE /loc

F—5 7L —LDSERETEELRIIETNET S L

E3. loc Z{ERAY %,

R1
R2
R3

R1
R2
R3

Cl C2 C3 C4

11 12 13 14

21 | 22 | 23 | 24

31 |1 32|33 |34

11|12 14
21 | 22 24
31 | 32 34

import pandas as pd

d = pd.DataFrame([[11, 12,
[21, 22,

[31, 32,

index=['R1', 'R2',
columns=['C1l', 'C2',

13, 14],
23, 24],
33, 3411,
'R3'],

|C3| , |C4v])

.loc['R1", :]
cl 11
c2 12
c3 13
c4 14
.loc[:, '"C3']
R1 13
R2 23
R3 33

HHEHQO HH*HH*O
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T—97L—LEZSHE /loc

import pandas as pd

d = pd.pataFrame([[11, 12, 13, 14],
[21, 22, 23, 24],
[31, 32, 33, 34]1,
index=['R1', 'R2', 'R3'],
columns=['Cc1l', 'c2', 'c3', 'c4'])

Cl1 C2 C3 C4

R1 | 11 d.loc[['R1', 'R2'], 'C2':'c4']
# Cc2 C3 c4

R2 | 21 # R1 12 13 14
# R2 22 23 24

R3(31 |32 (33| 34
d.loc[['R1', 'R3'], ['C2', 'c4']]
# c2 c4
# R1 12 14
# R3 32 34
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T—9 7 L—LERETH

T—97L—LHIV—XERAKkIC. True & False
o274 NY— (FT=U7IRI M) ZE>TE
RZMBITBIENTED, 717 —%2FEHTBHEE
[&. loc ¥l iloc DA ZERTSHIEDTE S,

import pandas as pd

d = pd.DataFrame([[1, 4],
[0, 11,
[1, 0],
[1, 31,
[0, 511,
index=['R1', 'R2', 'R3', 'R4', 'R5'],
columns=["'cl', 'Cc2'])

keep = (d.loc[:, 'C1l'] > 0)

d.loc[keep, :]
i Cl C2
#R1 1 4

#R3 1 O
# R4 1 3

104



T—9 7 L—LERETH

s

Z

BIHD .iloc &V .loc UHICH, iat &
SO .at ZFIAUVLEERSEYIIG - 174
BHZAW2BAEGRELH S,

import pandas as pd

df = pd.pataFrame([[1, 4], [0, 11,
[1, 0], [1, 31,
[0, 511,
1'ndex=['R1','R2','R3','R4','R5'],
columns=['Ccl','c2'])

df.iloc[2:4, O]
df.loc[['R1', 'R3'], ['c1l']1]
df.iat[0, 1]

df.at['R2', 'C2']

df[0:1]

df[['cl', 'c2']]

df.c2

df.iloc

df.loc

df.iat

df.at

df[0:1]

dff['C1']]

df.C1

BUHSBAHIUEBRBSZREL T, ZENEDERZNE
95, BEIIPEBITORRZILHTRIITE S,

NEHBWIITTRZREL T, ZEVNEDERZINET 5,
BHIIPEBITOERZILHTHIITE S,

.iloc ERIUEWAZT S, fcfcLU. 1 DOEFEUHEL
BTERL,

loc ERIUEWAZT S, IclEL. 1 DOEZRULIEES
TERRL,

TONBRESZAT7M1 ARETEEL T, ZHBITOERE
MST 5, BHITOERZITLHTHIFITE S,

SIDZEZE ) ANTIEELT,. ZUNOERZIE I 5,
BEIDEZREZXEHTHIRTE S, L. ATM AR
SCISERATERL,

SIDEFIEATI TV FOBIE LT, ZUTIOBERER
BTBZENTES, 105
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T—

47 L—L / pd.concat

pd.concat ¥ ZFEHI S L T. EHDODT—57
L—LZHERIET 1 2OTFT—77L—LICFXLEHS
CEDTES, pd.concat BE¥D axis 5|HZEUL T
BRI DRILAMZIEETE S,

11

12

13

14

21

22

23

24

31

32

33

34

41

42

43

4.4

axis=0

11

12

13

14

21

22

23

24

31

32

33

34

41

42

43

44

import pandas as pd
dl = pd.DataFrame([

d2

pd.DataFrame([

df = pd.concat([dl, d2])

O 1 2 3
112 13 14
1 22 23 24
1 32 33 34
1 42 43 44

H H H* HH*
wWNERER O
S WN R

[11,
[21,
[31,
[41,

12, 13, 14],
22, 23, 24]11)
32, 33, 34],
42, 43, 44]]1)
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T—

47 L—L / pd.concat

pd.concat ¥ ZFEHI S L T. EHDODT—57
L—LZHEEIETT 1 2DF—7T7L—LIcEEDHD
CEDTES, pd.concat BE¥D axis 5|HZEUL T

a9 DRILARAZIHRETE %o

11

12

13

14

31

32

33

34

21

22

23

24

41

42

43

4.4

axis=1

11

12

13

14

31

32

33

34

21

22

23

24

41

42

43

44

import pandas as pd

dl =

d2

df =
df
#

#
#

01
12

pd.DataFrame([[11, 12, 13, 14],
[21, 22, 23, 241D

pd.DataFrame([[31, 32, 33, 34],
[41, 42, 43, 441D

pd.concat([dl, d2], axis=1)
O 1 2 3 0 1 2 3

112 13 14 31 32 33 34
1 22 23 24 41 42 43 44
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F—47J7L—L.L [/ pd.concat

47 L—ALIC index XRIFINENEEIT D EE, import pandas as pd

>

T—4%7L—LREALH index EFNRAICEDIVWTHES dl = pd.pataFrame([[11, 12, 13, 14],

N3z, BABOF—9 7L —LOFEFDLETIEIK+5 , (21, 22, 23, 24]1,
o index=['A', 'B'],

ISEEIT D&, columns=["'a', 'b', 'c', 'd'])

d2 pd.DataFrame([[31, 32, 33, 34],
[41, 42, 43, 44]],

index=['X"', 'Y'],
columns=['a', 'b', 'c', 'e'])

df = pd.concat([dl, d2])

df

# a b c d e
# A 11 12 13 14.0 NaN
# B 21 22 23 24.0 NaN
# X 31 32 33 NaN 34.0
#Y 41 42 43 NaN 44.0
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F—47L—L / pd.merge

BHOT—97L—L%Z. FEDIDEICEDWT,
N—V9F39IEDTED, CDEZE pd.merge B
ZERT %,

k VI k V2

b|1| |b|7 > bl|1]|7
merge

c|O0| |d

T—97L—LOBEEZTILE. F—LLBBNICERERIE
End e, FHUBWERICRBIBEEDHBH. +RICERET
5Z¢&,

import pandas as pd

dl = pd.DataFrame([['a', 1],
['b", 11,
['c', 011,
columns=["k",

d2

pd.DataFrame([['a', 9],
['b", 71,
['d", 811,
columns=["k",

k vl V2

Oa 1 9
1b 1 7

HHHOO

'V1'1)

'V2'])

pd.merge(dl, d2) # how='1inner'
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T—57L—L4L [ merge
import pandas as pd
dl = pd.DataFrame([['a', 1],
['b", 1],
['c", 011,
columns=["k', 'v1i'])
k Vi k V2 k V1 V2 d2 = pd.DataFrame([['a', 9],
all a al1|9 [*b*, 71,
['d", 811,
b |1 b |7 b| 1|7 columns=["k"', 'v2'])
merge
c| O d c | O | nen
d = pd.merge(dl, d2, how='outer')
d v | 8 d
# k vl V2
#0 a 1.0 9.0
#1 b 1.0 7.0
#2 ¢ 0.0 NaN
# 3 d NaN 8.0
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T—57L—L4L [ merge
import pandas as pd
dl = pd.DataFrame([['a', 1],
['b", 1],
['c", 011,
columns=["k', 'v1i'])
kK VI k V2 kK VI V2 d2 = pd.DataFrame([['a', 9],
all a all1]|9 [*b*, 71,
['d", 811,
b |1 b |7 b |17 columns=["k", 'v2'])
merge
c| O d c | O | nen
d = pd.merge(dl, d2, how="left')
d
# k V1 V2
#0 a 1 9.0
#1 b 1 7.0
#2 cC O NaN
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—

T—57L—L4L [ merge
import pandas as pd
dl = pd.DataFrame([['a', 1],
['b", 1],
['c", 011,
columns=["k', 'v1i'])
kK VI k V2 kK VI V2 d2 = pd.DataFrame([['a', 9],
all a all1]|9 [*b*, 71,
['d", 811,
b |1 b |7 b |17 columns=["k", 'v2'])
merge
c| O d d|nn| 8
d = pd.merge(dl, d2, how='right')
d
# k vl V2
#0 a 1.0 9
#1 b 1.0 7
# 2 d NaN 8
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F—4%7L—L / merge

N=—IWRKRDT—Y 7L —LOEEFDIZHELLSE  import pandas as pd

&ld. pd.merge B#®D left_on £&T right_on 351 47 _ pd.DataFrame([['a', 1],

HTHEET %o ['b", 1],
['c', 011,
columns=['k', 'vl'])

K VI f V2 k V1 f V2 d2 = pd.DataFrame([['a', 9],
a|l alo9 all|al9 ['b*, 71,
['d', 811,
b |1 b |7 >  b|1|b|7 columns=['f", 'v2'])
merge
c|O d| 8 C | O | NaN | NN d = pd.merge(dl, d2, how='outer',
left_on="k', right_on="f")
NaN [ NN | | 8 d
# ke \VAl f V2
# 0 a 1.0 a 9.0
# 1 b 1.0 b 7.0
# 2 c 0.0 NaN NaN
# 3 NaN NaN d 8.0
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Pandas
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O F7F—97L—L4
O RF—F0E




®7F—%

EMETRO/RST—YIE. —KHIC. OFF O s B sleep_in_-mammals

'| -Ij- S '7’}b '| ﬁ"é%ﬂﬁé ;h"'c Ly %o i Home Insert Draw Page Layout Formulas Data Review View & Share [J Comments
4= ~ —— Conditional Formatting v T
TC\ ﬁﬁ‘iE&QIﬁﬁb\bmbs -U.y fﬁvt%v A v == % v %Formatasﬁblev v pv
7}[/0)’%"& \igaﬁ é n ‘l\ T % . Z. 0) J: Paste d Font Alignment Number @ Cell Styles v Cells Editing
A .
S5HEF—YIR. —BHIKY TR A2 - = | Sorle ’
A B C D E F G H | J K
7 7 ’f }l/ (TSV) i TC ‘* jJ y ? IZtJJ D 1 |# This dataset contains brain and body weight, life span, gestation time, time sleeping,
_ 2 | #and predation and danger indices for 62 mammals. The dataset was originally investigated

77414I0 (CSV) DFFARNT7ZAIL 3 #oyaisonetal, 197.
4 # The dataset can be downloaded from http://www.statsci.org/data/general/sleep.html

'T\\{%ﬁ é n% o 5 |Species BodyWt BrainWt NonDreamin Dreaming  TotalSleep LifeSpan Gestation  Predation  Exposure Danger
6 |Africaneleph 6654 5712 NA NA 33 38.6 645 3 5 3
7 | Africangiant) 1 6.6 6.3 2 8.3 4.5 42 3 q 3
8 |ArcticFox 3.385 44.5 NA NA 12.5 14 60 1 1 1
9 |Arcticground 0.92 5.7 NA NA 16.5 NA 25 5 2 3
10 Asianelephai 2547 4603 2.1 1.8 3.9 69 624 3 5 4
11 |Baboon 10.55 179.5 9.1 0.7 9.8 27 180 4 4 4
12 | Bigbrownbat 0.023 0.3 15.8 3.9 19.7 19 35 1 1 1
13 |Braziliantapi 160 169 5.2 1 6.2 30.4 392 4 5 4
14 Cat 3.3 25.6 109 3.6 14.5 28 63 1 2 1
15 |Chimpanzee 52.16 440 8.3 1.4 9.7 50 230 1 1 1
16 | GRINCRING ) 7 112 5 4 4

4 b sleep_in_mammals 4
Ready | B O] = cm— + 100%
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# This dataset contains brain and body weight, life span, gestation timeJ
# and predation and danger indices for 62 mammals. The dataset was origi

AXY # by Allison et al, 1976.
# The dataset can be downloaded from http://www.statsci.org/data/general/
~ | Species BodyWt BrainWt NonDreaming Dreaming TotalSleep 1
Africanelephant 6654 5712 NA NA 3.3 38.6 645 3
Africangiantpouchedrat 1 6.6 6.3 2 8.3 4.5 4
ArcticFox 3.385 44.5 NA NA 12.5 14 60 1
Arcticgroundsquirrel 0.92 5.7 NA NA 16.5 NA 2
Asianelephant 2547 4603 2.1 1.8 3.9 69 624 3
F—=4 < Baboon 10.55 179.5 9.1 0.7 9.8 27 180 4 4
Bigbrownbat 0.023 0.3 15.8 3.9 19.7 19 35 1
Braziliantapir 160 169 5.2 1 6.2 30.4 392 4
Cat 3.3 25.6 10.9 3.6 14.5 28 63 1 2
Chimpanzee 52.16 440 8.3 1.4 9.7 50 230 1
Chinchilla 0.425 6.4 11 1.5 12.5 7 112 5
Cow 465 423 3.2 0.7 3.9 30 281 5 4

i, https://aabbdd. jp/notes/data/sleep_in_mammals.txt
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RT—Y

Bt (EEHE)
A

‘4 \
NYyGP— — Species BodyWt BrainWt NonDreaming Dreaming TotalSleep |
" | Africanelephant 6654 5712 ¢NA"> ¢NA"> 3.3 38.6 645 3
Africangiantpouchedrat 1 RiE{E 6.6 6.3 2 8.3 4.5 4
ArcticFox 3.385 44.5 ¢CNA D CNATD  12.5 14 60 1
Arcticgroundsquirrel 0.92 5.7 C€INATS) ¢CNATD 16.5 ¢ NA 2
Asianelephant 2547 4603 2.1 1.8 3.9 69 624 3
. Baboon 10.55 179.5 9.1 0.7 9.8 27 180 4 4
T2 < Bigbrownbat 0.023 0.3 15.8 3.9 19.7 19 35 1
Braziliantapir 160 169 5.2 1 6.2 30.4 392 4
Cat 3.3 25.6 10.9 3.6 14.5 28 63 1 2
Chimpanzee 52.16 440 8.3 1.4 9.7 50 230 1
Chinchilla 0.425 6.4 11 1.5 12.5 7 112 5
g Cow 465 423 3.2 0.7 3.9 30 281 5 4

¥, https://aabbdd.jp/notes/data/sleep_in_mammals.txt 117



RT — Y FHHIAD

Pandas @ read_table BE#Zz#ES & T, CSV £k  import pandas as pd

(& TSV 7_" 9%5}"1‘. t?’J _C“g%o f 's'Ieep_'i n_mammals.txt'

d

pd.read_csv(f)

# This dataset contains brain and body weight Tife span gestation time time sleeping Unnamed: 4

0 # and predation and danger indices for 62 mamm... NaN NaN NaN NaN
1 # by Allison et al 1976.0 NaN NaN NaN
2 # The dataset can be downloaded from http://ww... NaN NaN NaN NaN
3 Species\tBodywt\tBrainwt\tNonDreaming\tDreamin. .. NaN NaN NaN NaN
4  Africanelephant\t6654\t5712\tNA\tNA\t3.3\t38.6... NaN NaN NaN NaN
61 Treehyrax\t2\t12.3\t4.9\t0.5\t5.4\t7.5\t200\t3... NaN NaN NaN NaN
62 Treeshrew\t0.104\t2.5\t13.2\t2.6\t15.8\t2.3\t4... NaN NaN NaN NaN
63 Vervet\t4.19\t58\t9.7\t0.6\t10.3\t24\t210\t4\t... NaN NaN NaN NaN
64 wateropossum\t3.5\t3.9\t12.8\t6.6\t19.4\t3\tl4... NaN NaN NaN NaN
65 Yellow-belliedmarmot\t4.05\tl17\tNA\tNA\tNA\t13... NaN NaN NaN NaN

3> ® Pandas TlRI7—»hELE. FTULWNN—-I 300D
Pandas Cl3IZ—REELZVWHAT—YZIEL K TETERL,

ﬁ read_csv BEODA T aYyZIEULKIEELEWE, HWI—

,i, https://aabbdd.jp/notes/data/sleep_in_mammals.txt '| '| 8



RT — Y FdADH

Pandas @ read_table B@#iZz{#E> 2 &, CSV £/  import pandas as pd
i& TSV 7—9%ZmHPALIEDTES, T—IZIEL ¢
{HEMADICIE. read_table B#lc. OAX Y MNT%H

= 'sleep_in_mammals.txt'

‘ d = pd.read_csv(f,
RU. ANYY—1TOEE. RUIDXFOEHFEZIELLIE comment="#",
T BBENB B VR

sep="\t')

NY TRy 1R3KHNBERZEFHIOXNFTH S, v IR
v 1DRICKEL 1XFIF, FBEKRZR D, fIAE 't
[FEXFD t Z2RIH, \t' BYTEXRT,

,i, https://aabbdd.jp/notes/data/sleep_in_mammals.txt '| '| 9



RT—H 5%

import pandas as pd

f = "sleep_in_mammals.txt'
d = pd.read_csv(f, comment="#"',
d.shape

# (62, 11)

d.head(

# Species
#0 Africanelephant
# 1 Africangiantpouchedrat
# 2 ArcticFox
# 3 Arcticgroundsquirrel
# 4 Asianelephant
# [5 rows x 11 columns]

¥, https://aabbdd.jp/notes/data/sleep_in_mammals.txt

Bodywt
6654.000
1.000
3.385
0.920
2547 .000

header=0, sep="\t')

Brainwt
5712.0
6.6

44 .5
5.7
4603.0

Predation

WulpRkE WWw

EXposure

UIINNPRR = U

Danger

S WERE ww
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x5

— N FedrIA

import pandas as pd

.F

d =

* Q.

HHHHFEHRHFTHRH*TC

https://aabbdd. jp/notes/data/sleep_in_mammals.txt

= 'sleep_in_mammals.txt'
pd.read_csv(f, comment="#', header=0, sep='\t', index_col=0)

.shape
(62, 10)
-head()

Bodywt Brainwt Exposure Danger
Species
Africanelephant 6654.000 5712.0 5 3
Africangiantpouchedrat 1.000 6.6 1 3
ArcticFox 3.385 44 .5 1 1
Arcticgroundsquirrel 0.920 5.7 2 3
Asianelephant 2547.000 4603.0 5 2
[5 rows x 10 columns]

BHEDINET—5 D—HBTIX

BT, THRELTRDOHED

ZEHTES,
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xT—Y [ THRLIA

import pandas as pd
f = "sleep_in_mammals.txt’

d = pd.read_csv(f, comment="#', header=0, sep='\t', index_col=0)

d.index

# Index(['Africanelephant', 'Africangiantpouchedrat', 'ArcticFox',

# '"Arcticgroundsquirrel', 'Asianelephant', 'Baboon', 'Bigbrownbat',
# 'Braziliantapir', 'Cat', 'Chimpanzee', 'Chinchilla', 'Cow',

# e

# '"Treeshrew', 'vervet', 'wateropossum', 'Yellow-belliedmarmot'],
# dtype="'object', name='Species')

d.columns

# Index(['Bodywt', 'Brainwt', 'NonDreaming', 'Dreaming’', 'TotalSleep',

# 'LifeSpan', 'Gestation', 'Predation', 'Exposure', 'Danger'],

# dtype="object')

,i, https://aabbdd.jp/notes/data/sleep_in_mammals.txt '| 22



RT—7 | EROIF

import pandas as pd

f
d

3 3 IO

STHE T

= 'sleep_in_mammals.txt'

= pd.read_csv(f, comment="#', header=0, sep='\t', index_col=0)

.iloc[0:3, 0:5]

Bodywt
Species
Africanelephant 6654.000
Africangiantpouchedrat 1.000
ArcticFox 3.385
.iloc[0:2, :]

Bodywt
Species
Africanelephant 6654.000
Africangiantpouchedrat 1.000

Brainwt NonDreaming Dreaming TotalSleep
5712.0 NaN NaN 3.3
6.6 6.3 2.0 8.3

44 . 5 NaN NaN 12.5
Brainwt NonDreaming . Exposure Danger
5712.0 NaN 5 3
6.6 6.3 1 3

https://aabbdd.jp/notes/data/sleep_in_mammals.txt
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RT—7 | BRONE

import pandas as pd

f 'sleep_in_mammals.txt'

d = pd.read_csv(f, comment="#', header=0, sep='\t', index_col=0)

species = ['Cat', 'Rat', 'Cow', 'Pig']
features = ['Bodywt', 'Brainwt', 'TotalSleep', 'LifeSpan']

d.loc[species, features]

# Bodywt Brainwt TotalSleep LifeSpan
# Species

# Cat 3.30 25.6 14.5 28.0
# Rat 0.28 1.9 13.2 4.7
# Cow 465.00 423.0 3.9 30.0
# Pig 192.00 180.0 8.4 27.0

,i, https://aabbdd.jp/notes/data/sleep_in_mammals.txt '| 24



x5

—J 5

AJD

A [ T—

J B

import pandas as pd

f = "sleep_in_mammals.txt'
d = pd.read_csv(f, comment="#"',
d.describe()

# Bodywt

# count 62.000000

# mean 198.789984

# std 899.158011

# min 0.005000

# 25% 0.600000

# 50% 3.342500

# 75% 48.202500

# max 6654.000000

62

930.
0.
4,

17

5712

# [8 rows x 10 columns]

¥, https://aabbdd.jp/notes/data/sleep_in_mammals.txt

134194
278942
140000
250000

.250000
166.

000000

.000000

Brainwt NonDreaming

.000000
283.

48.000000
8.672917
3.666452
2.100000
6.250000
8.350000

11.000000

17.900000

header=0, sep="\t', index_col1=0)

Predation

62

VP WNREREN

.000000
.870968
.476414
.000000
.000000
.000000
.000000
.000000

EXposure

62

MANRRREN

.000000
.419355
.604792
.000000
.000000
.000000
.000000
.000000

Vb NRKRRERERRENDN

Danger

.000000
.612903
.441252
.000000
.000000
.000000
.000000
.000000
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RT—FIHPHIAH | T

— 5 AIfRML

import pandas as pd

f 'sleep_in_mammals.txt'

d

d.hist(Q
d.boxplot()

pd.read_csv(f, comment="#', header=0,

sep="\t', index_col=0)

BodyWt BrainWt

60
40
20
0
0 1000 2000 3000 4000 5000 €000

B8 83
8
g
g
g
o «» B &
g
hd =3
]
-
2}
g g
H H

o w B & s B
- °
8
8
3
8
3
w g
g
E
8
IS
8
8
o

o
1000
)
: Iil
0 i. S &
BodyWt BrainWt NonDreaming ~ Dreaming

uuuuuuu

nnnnnn

—HOBEEDEDEEHNKE VDT, HHELLTH
573 7IcE< E2EFDERZEDHPYI<E D,

% matplotlib TY 7 7Z2EWAD—RATHZDD
T. CZTl& Pandas ORELEEEEZELD EIFEL,
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[FlRE P2-1

diversity_galapagos.txt # Pandas T&HE#AiAH#. HIE (Area) DRHBAZTVWEDZAIEZDHEZEZ Lo

import pandas as pd

f
d

'diversity_galapagos.txt'
pd.read_csv(f, comment='#', header=0, sep='\t', index_col=0)

Bk
V) —X s DRXEIF max(s)

¥, https://aabbdd.jp/notes/data/diversity_galapagos.txt T‘*w%:tﬁf‘%éo] 27



[RlRE P2-2

diversity_galapagos.txt Z# Pandas TiiR&AAH. BEICKITDHEH D DEHZRD X,

import pandas as pd

f
d

'diversity_galapagos.txt'
pd.read_csv(f, comment='#', header=0, sep='\t', index_col=0)

¥, https://aabbdd.jp/notes/data/diversity_galapagos.txt 128



7271IVEZTHUL

Pandas Tl&. 7—#% % CSV £

Tcld TSV 771 IVIcEESHT L&,

to_csv B# (XYY R) ZfES,
COREIC. RYIDXZF, TRADE
®\, INBDERZIEEIT S LD
TEDS, e, REMEZRFEDX
FICEMIT DI EDHTES,

import pandas as pd
f = 'sleep_in_mammals.txt'

d = pd.read_csv(f, comment="#', header=0,

index_co1=0)

d.to_csv('o.txt', sep=',', header=False,

____________________________________________________________

I I
! I I
:3.385,44.5,,,12.5,14.0,60.0,1,1,1

10.92,5.7,,,16.5,,25.0,5,2,3 i
12547.0,4603.0,2.1,1.8,3.9,69.0,624.0,3,5,4 |
'10.55,179.5,9.1,0.7,9.8,27.0,180.0,4,4,4
0.023,0.3,15.8,3.9,19.7,19.0,35.0,1,1,1 |
'160.0,169.0,5.2,1.0,6.2,30.4,392.0,4,5,4 !
'3.3,25.6,10.9,3.6,14.5,28.0,63.0,1,2,1 i
.52 16,440.0,8.3,1.4,9.7,50.0,230.0,1,1,1

sep="\t

index=False)
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7271IVEZTHUL

Pandas Tl&. 7—#% % CSV £

Tcld TSV 771 IVIcEESHT L&,

to_csv B# (XYY R) ZfES,
Zd)li:f‘.‘ét:\ X¥YIDXF, T82DE
\, JIBDBERZIEEITZLED
TEDS, e, REMEZRFEDX
FICEMIT DI EDHTES,

import pandas as pd
f = 'sleep_in_mammals.txt'

d = pd.read_csv(f, comment="#', header=0, sep="\t',
index_col1=0)

d.to_csv('o.txt', sep=',', header=True, index=True)

o e e e e e e e e e e e e e e e e e e e e e e e e e Em e e e e e M e e e e e M e e e e e M e e e e e M e e e e e e e e e e M mm e e e e e e e e e e e e e e

'Afr1canelephant,6654 0 5712.0,,,3.3,38.6,645.0,3,5,3 :
:Africangiantpouchedrat,1.0,6.6,6.3,2.0,8.3,4.5,42.0,3,1,3 .
:ArcticFox,3.385,44.5,,,12.5,14.0,60.0,1,1,1 X
1Arcticgroundsquirrel,0.92,5.7,,,16.5,,25.0,5,2,3 '
:Asianelephant,2547.0,4603.0,2.1,1.8,3.9,69.0,624.0,3,5,4 |
\ Baboon, 10.55,179.5,9.1,0.7,9.8,27.0,180.0,4,4,4 !
:Bigbrownbat,0.023,0.3,15.8,3.9,19.7,19.0,35.0,1,1,1 !
|Braziliantapir,160.0,169.0,5.2,1. .2,30.4,392.0,4,5,4 1
/Cat,3.3,25.6,10.9,3.6,14.5,28.0,6 ,1,2,1 :

wo
OO\
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7271IVEZTHUL

Pandas Tl&. 7—%%Z CSV % import pandas as pd
flt TSV 7 74 LI B & = f = "'sleep_in_mammals.txt
to_csv BI® (XY wR) &5, d

CDEIC. RUDXZF, TH2DE
m FZOEEEEETZIED d.to_csv('o.txt', sep="\t', header=True, index=True)

pd.read_csv(f, comment='#', header=0, sep='\t',
index_col1=0)

-t“g %o i T,'_‘_\ k*ﬁﬂﬁ%ﬁ;ﬁd)j |Spec1es BodyWt BrainWt NonDreaming Dreaming TotalSleep LifeSpan Gestati
:Afrlcanelephant 6654.0 5712.0 3.3 38.6 645.0 3 5 3 '
= [ — = . yAfricangiantpouchedrat 1.0 6.6 6.3 2.0 8.3 4.5 42.0 3 1 !
FICERT B EHTES, | ArcticFox 3.385  44.5 12.5  14.0  60.0 1 1 1 |
|Arcticgroundsquirrel 0.92 5.7 16.5 25.0 5 2 E
:Asianelephant 2547.0 4603.0 2.1 1.8 3.9 69.0 624.0 3 5 4 1
:Baboon 10.55 179.5 9.1 0.7 9.8 27.0 180.0 4 4 4 :
1Bigbrownbat 0.023 0.3 15.8 3.9 19.7 19.0 35.0 1 1 1 '
:Braziliantapir 160.0 169.0 5.2 1.0 6.2 30.4 392.0 4 5 4 .
Cat 3.3 25.6 10.9 3.6 14.5 28.0 63.0 1 2 1 !
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7271IVEZTHUL

Pandas Tl&. ¥—#%% CSV £ import pandas as pd
bl TSV I 7 ALl EE g & = f = "'sleep_in_mammals.txt

to csv BE (XY wR) £ES, d

ZDEIC. RUIDXFE, TRDE

/., INBDFEZIEEISILEN d-to_CSVC'o.txt','se;')='\t', header=True, index=True)
na_rep= 'NA')
TEDo Xl REEBZRED T

pd.read_csv(f, comment='#', header=0, sep='\t',
index_col1=0)

1Species BodyWt BrainWt NonDreaming Dreaming TotalSleep LifeSpan Gestati
e [ — \Africanelephant 6654.0 5712.0 NA NA 3.3 38.6 645.0 3 5 3 !
?‘Qgﬁ?% Z t :E)-t\‘g %o |Africangiantpouchedrat 1.0 _6.6_____6.3 2,0 - I . 42.0 3 1 E
'ArcticFox 3.385 44 .5(::__NA NA _'_‘:» EE HINAIC gﬁé ns 1 1 !
'Arcticgroundsquirrel 0.92 5.7°7"""NA NA 16.5 NA 25.0 5 2 :
:Asianelephant 2547.0 4603.0 2.1 1.8 3.9 69.0 624.0 3 5 4 !
1Baboon 10.55 179.5 9.1 0.7 9.8 27.0 180.0 4 4 4 1
:Bigbrownbat 0.023 0.3 15.8 3.9 19.7 19.0 35.0 1 1 1 :
\Braziliantapir 160.0 169.0 5.2 1.0 6.2 30.4 392.0 4 5 4 .
Cat 3.3 25.6 10.9 3.6 14.5 28.0 63.0 1 2 1 X
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TJIV—-TER

Pandas 7 —% 7 L—LTR.
H3DEICEDWVWT, £257—%
ZWS D2 DY T2y NGIF. %
nNENOY7Ey MU TEY
PORBEZFRE T RENRME
ShTW3,

iris T— %ty bhiF. 3SEO7 VX
(setosa * versicolor - virginica) CXf U
T. & sepal DR length &1E width.,
TEF petal DR Z length &1§ width %38l
ELET—9THD, &EICIE 50 EEFED

—yaFEh. 3EBTEHI150FEDT—FH
g2FEhTW3,

import pandas as pd
f = "iris.txt'
d = pd.read_csv(f, header=0, sep='\t')

d.head(

# ID Sepal.Length Sepal.width Petal.Length Petal.width Species
#0 1 5.1 3.5 1.4 0.2 setosa
# 1 2 4.9 3.0 1.4 0.2 setosa
# 2 3 4.7 3.2 1.3 0.2 setosa
#3 4 4.6 3.1 1.5

# 4 5 5.0 3.6 1.4

{ . |
‘\ P l@, .
Ve

— 4‘\ \:n A -
S "J =, “‘.) -
< -." A - LR

Llﬂﬁ%ﬁbokW' I setosa

e
-



JI—TER / groupby

import pandas as pd

f = "iris.txt'

d = pd.read_csv(f, header=0, sep='\t')

d.groupby('species') .mean()

# ID Sepal.Length Sepal.width Petal.Length Petal.width

# Species

# setosa 25.5 5.006 3.428 1.462 0.246

# versicolor 75.5 5.936 2.770 4.260 1.326

# virginica 125.5 6.588 2.974 5.552 2.026
- S \

.groupby () .mean()

]
> HENNES —— IIIIIIIIIII

N . —
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JI—TER / groupby

import pandas as pd

f
d

HHHHHA

"iris.txt'
pd.read_csv(f, header=0, sep="\t')

.groupby('Species').loc[:, 'Sepal.Length'].mean()

Species

setosa 5.006
versicolor 5.936
virginica 6.588

Name: Sepal.Length, dtype: float64
.groupby (O [:, 'Sepal.Length'] .mean() [ ]
— — — =m —




JI—TER / groupby

import pandas as pd
f = "iris.txt'
d = pd.read_csv(f, header=0, sep='\t')

for gname, subset in d.groupby('Species'):
print(gname)
print(subset.head())

= e e e e e e e e e e e e e e e e e e e e e

ERN 3 EHDY
.groupby () . for BXZFIALTY Rk
g ' L DRERELE




J)IV—78E / groupby

import pandas as pd
f "iris.txt'
d pd.read_csv(f, header=0, sep="\t')

for gname, subset in d.groupby('sSpecies'): [ERiEIEREALLEEL
M = subset.iloc[:, 1:5].max(axis=0) EHEL. SFOBAEE
m = subset.iloc[:, 1:5].minCaxis=0) SHEd 3,
print(gname)
print(M - m)

_________________________________

setosa <« !
Sepal.Length 1.5 ] | setosa
Sepal.width 2.1 | | :
Petal.Length 0.9 Seiose
Petal.width 0.5 _
versicolor
Sepal.Length 2.1
Sepal.width 1.4

-groupby O
—_—

H o H W HHHH

| virginica



JIV—TE& / apply

import pandas as pd
f "iris.txt'
d pd.read_csv(f, header=0, sep="\t')

def calc_diff(df):
M =df.iloc[:, 1:5].max(axis=0)

m = df.iloc[:, 1:5].min(axis=0)
return M - m for BXZFfIRALEII—7EBEZBEHILT S

CET, BEL apply B#iZzfIEATES LS
ICH B,

d.groupby('species') .apply(calc_diff)

# Sepal.Length Sepal.width Petal.Length Petal.width
# Species

# setosa 1.5 2.1 0.9 0.5
# versicolor 2.1 1.4 2.1 0.8
# virginica 3.0 1.6 2.4 1.1
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[RlRE P3-1

iris.txtzHiAH. BEICHITRICHITS. TEF petal DR E length &1iF width OHEDFEIGEZ KD &K,
import pandas as pd

f
d

"iris.txt'
pd.read_csv(f, header=0, sep="\t')

,i, https://aabbdd.jp/notes/data/iris.txt ] 39



